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Question 1

Question Type: MultipleChoice

Ethernet supports broadcast. Once a network loop occurs, this simple broadcast mechanism will cause catastrophic consequences.
Which of the following symptoms may be caused by a loop? (Multiple Choice)

Options:

A- Users cannot log in to the device remotely.
B- The display interface command output shows a large number of broadcast packets received on an interface.
C- The CPU usage exceeds 70%.

D- A lot of ICMP packets are lost in ping tests.

Answer:

A BCD

Question 2

Question Type: MultipleChoice




Which of the following is not an external risk to a project?

Options:

A- Exchange rate change
B- Rainstorm disaster
C- Social unrest

D- Differences of industrial standards

Answer:

Question 3

Question Type: MultipleChoice

Which of the following networks are involved during construction of a large enterprise network? (Multiple Choice)



Options:

A- Backbone network
B- Transport network
C- Data center network
D- Wireless network

E- Storage network

Answer:

D

Question 4

Question Type: MultipleChoice

Which of the following operations are performed during migration acceptance? (Multiple Choice)

Options:




A- Documentation transfer
B- Transfer-to-maintenance training
C- Acceptance meeting

D- Business expense accounting

Answer:

A B, C

Question 5

Question Type: MultipleChoice

Which of the following statements regarding the service running status check is true?

Options:

A- When checking the multicast forwarding table, you can run the display multicast forwarding-table command to check Layer 2
multicast forwarding entries.

B- When checking the multicast routing protocol, you can run the display multicast routing-table command to check the multicast routing
table. If PIM-SM is used as the intra-domain multicast routing protocol, multicast interfaces do not need to enable IGMP.



C- You can run the display vrrp and display vrrp statistics commands to check the VRRP status. The value of State should be Initialize.

D- You can run the display current-configuration | include car command to check the attack defense configuration. If attack defense is
not configured, run the car command to configure this function.

Answer:

D

Question 6

Question Type: MultipleChoice

Which of the following does not require customers' signing in a migration project?

Options:

A- Finalized migration solution
B- Change application form
C- Change notification form

D- Migration completion report



Answer:
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